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Roll No.

Series RKM Code  No. 52
Please check that this question paper contains 15 printed pages.
Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.
Please check that this question paper contains 18 questions.

Please write down the serial number of the question before attempting it.

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 15 gSaA
iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA
Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 18 iz'u gSaA
Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA
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Instructions :
funs Z'k%  %funsZ'k%  %funsZ'k%  %funsZ'k%  %funsZ'k%  %

(i) vfLeu~ iz'ui=ks pRokj% [k.Mk% lfUrA

bl iz'u&i=k esa pkj [k.M gSaA

There are four sections in this questions paper.

(ii) izfr[k.Me~ mÙkjkf.k i`Fkd~ iznÙkk;ke~ mÙkjiqfLrdk;ka ys[kuh;kfuA

izR;sd [k.M ds mÙkj i`Fkd~ nh xbZ mÙkj&iqfLrdk esa gh fy[kus gSaA

The answers have to be written in a separate answer-sheet.

(iii) izR;sda [k.Me~ vf/kÑR; mÙkjkf.k ,dfLeu~ LFkkus Øes.k ys[kuh;kfuA

izR;sd [k.M ds mÙkj ,d gh txg ij Øe esa fy[kus gksaxsA

The answers to each section must be written at one place.

(iv) iz'ui=ks mÙkjkf.k u ys[kuh;kfuA

iz'u&i=k ij mÙkj u fy[ksaA

Don't write answers in the question paper.

(v) iz'ula[;k iz'ui=kkuqlkje~ vo';eso ys[kuh;kA

iz'u&i=k ds vuqlkj iz'u la[;k vo'; gh fy[kuh gksxhA

Write the question number according tothe question paper.

(vi) losZ"kka iz'ukuke~ mÙkjkf.k laLÑrsulaLÑrsulaLÑrsulaLÑrsulaLÑrsu ys[kuh;kfuA

lHkh iz'uksa ds mÙkj laLÑrlaLÑrlaLÑrlaLÑrlaLÑr esa fyf[k,A

Answer all the questions in Sanskrit.

[k.M% d [k.M% d [k.M% d [k.M% d [k.M% d (Section  A)
vifBrka'k&vocks/kue~ ¼vifBr&vocks/ku½vifBrka'k&vocks/kue~ ¼vifBr&vocks/ku½vifBrka'k&vocks/kue~ ¼vifBr&vocks/ku½vifBrka'k&vocks/kue~ ¼vifBr&vocks/ku½vifBrka'k&vocks/kue~ ¼vifBr&vocks/ku½

Unseen Reading Comprehension 15 vad%

1. v/kksfyf[kr&vuqPNsn};a};a};a};a};a ifBRok iznÙkiz'uku~ i`Fkd iznÙkk;ke~ mÙkjiqfLrdk;ke~ mÙkjr %

fuEufyf[kr nksuk s ank suk s ank suk s ank suk s ank suk s a vuqPNsnksa dks i<+dj fn, x, iz'uksa ds mÙkj i`Fkd~ nh xbZ mÙkj&iqfLrdk esa
fyf[k, %
Read the following two passages and answer the questions in the given answer-sheet :

¼d½ izFke% vuqPNsn%

vLekda thous ;% le;% vrhr% l rq xr%] vr% rL; fo"k;s fpUrk u dj.kh;kA vof'k"Va thoua

lkFkZda dq;kZeA fnus&fnus LokFkZ% U;wu% Hkosr~] ijkFkZ% vf/kdkf/kd% Hkosr~A vfLeUuso lq[kL;

jgL;efLrA ^LoLeS LoYia] lektk; loZLoe~ bfr mDrs% vuqlkja thous ,o thouL; lkFkZdrk

vfLrA ,oa txr~ br% vfi lqUnjrja Hkosr~A
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iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

I. ,dinsu mÙkjr %

,d 'kCn esa mÙkj nhft, %

Answer in one word : ½×4=2

(i) izfrfnua d% U;wu% Hkosr~ \

(ii) izfrfnua d% vf/kdkf/kd% Hkosr~ \

(iii) o;a dLeS loZLoe~ viZ;ke \

(iv) br% vfi lqUnjrja fda Hkosr~ \

II. iw.kZokD;su mÙkjr %

iw.kZ okD; esa mÙkj nhft, %

Answer in a complete sentence : 1×1=1

thouL; lkFkZdrk dL;k% mDrs% vuqlkja thous vfLr \

III. ;FkkfunsZ'ka mÙkjr %

;FkkfunsZ'k mÙkj nhft, %

Do as directed : ½×4=2

(i) vrhr% bfr inL; fda lekukFkZda ine~ v=k iz;qDre~ \

(ii) vof'k"Ve~ bfr ina dL; inL; fo'ks"k.ke~ \

(iii) ^rL; fo"k;s* bR;=k ^rL;* bfr loZukeina dLeS iz;qDre~ \

(iv) vLekr~ bfr LFkkus fde~ vO;;ina iz;qDre~ \

¼[k½ f}rh;% vuqPNsn%

ftàk;k% ek/kq;± Lox± izki;fr] ftàk;k% dVqrk ujds ikr;frA ,d% ,o 'kCn% thoua foHkw"k;sr~]

vU;% ,d% 'kCn% thoua uk'k;sr~A ,dnk };ks% /kfuuks% e/;s fookn% mRiUuks tkr%A rkS U;k;ky;a

xrkSA ,d% /kfud% vfpUr;r~ — vga y{ka :I;dkf.k U;k;k/kh'kk; ;PNkfe bfrA l% L;wrs y{ka

:I;dkf.k LFkkif;Rok U;k;k/kh'kL; x`ga xroku~A U;k;k/kh'k% rL; eUrO;a KkRok Øq)% vHkor~A

/kfud% vonr~ — Hkks% eRln`'kk% y{k:I;dk.kka nkrkj% nqyZHkk% ,oA U;k;k/kh'k% vonr~ —

y{k:I;dk.kka nkrkj% dnkfpr~ vU;s vfi Hkos;q% ijUrq y{k:I;dk.kka fujkdÙkkZj% eRln`'kk% vU;s

fojyk% ,oA vr% d`i;k xPNrqA U;k;LFkkua efyua ek dq#A yfTtr% /kfud% /kuL;wra x`ghRok

rr% fuxZr%A
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iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

I. ,dinsu mÙkjr %

,d 'kCn esa mÙkj nhft, %

Answer in one word : ½×4=2

(i) /kfud% /kue~ vknk; dL; x`ga xroku~ \

(ii) dL;k% dVqrk ujds ikr;fr \

(iii) ds"kka fujkdÙkkZj% fojyk% ,o \

(iv) ,d% ,o 'kCn% fda foHkw"k;sr~ \

II. iw.kZokD;su mÙkjr %
iw.kZ okD; esa mÙkj nhft, %
Answer in a complete sentence : 2×2=4

(i) d% U;k;LFkkua efyua drqZe~ bPNfr Le \

(ii) U;k;k/kh'k% fdeFk± Øq)% vHkor~ \

III. ;FkkfunsZ'ka mÙkjr %

;FkkfunsZ'k mÙkj nhft, %

Do as directed : ½×4=2

(i) ^yfTtr%* bfr ina dL; fo'ks"k.ke~ \

(ii) ^lqyHkk%* bfr inL; foykse ina fde~ v=k iz;qDre~ \

(iii) ^rkS U;k;ky;a xrkS* bfr okD;s ^rkS* bfr ina dkH;ka iz;qDre~ \

(iv) ^vr% d`i;k xPNrq* bfr d% da dFk;fr \

IV. vL; vuqPNsnL; d`rs leqfpra 'kh"kZda fy[krA

bl vuqPNsn ds fy, mi;qä 'kh"kZd fyf[k,A

Write a suitable title for this paragraph. 2
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[k.M% [k [k.M% [k [k.M% [k [k.M% [k [k.M% [k (Section B)
jpukReddk;Ze~ ¼jpukRed&dk;Z½jpukReddk;Ze~ ¼jpukRed&dk;Z½jpukReddk;Ze~ ¼jpukRed&dk;Z½jpukReddk;Ze~ ¼jpukRed&dk;Z½jpukReddk;Ze~ ¼jpukRed&dk;Z½

Writing Skills 20 vad%

2. i=kys[kue~i=kys[kue~i=kys[kue~i=kys[kue~i=kys[kue~

Hkoku~ ^pUnz%*A Hkorka fo|ky;s laLd`rL; lEHkk"k.kf'kfoje~ vk;ksftre~ vklhr~A Lo&vuqHkoku~ o.kZ;u~
Hkoku~ Lofe=ka lqjs'ka izfr i=ka fy[kfr ijUrq e/;s dkfufpr~ inkfu R;DrkfuA i=ka iwjf;Rok iqu%
mÙkjiqfLrdk;ka fy[krqA lgk;rk;S v/k% e×tw"kk nÙkkA

vki ^pUnz* gSaA vkids fo|ky; esa laLÑr dk lEHkk"k.k&f'kfoj vk;ksftr fd;k x;k FkkA vkius
vuqHkoksa dk o.kZu djrs gq, vki vius fe=k lqjs'k dks i=k fy[krs gSa ijUrq chp esa dqN 'kCn NksM+
nsrs gSaA i=k dks iwjk djds iqu% mÙkj&iqfLrdk esa fyf[k,A lgk;rk ds fy, uhps e×tw"kk nh xbZ
gSA

You are 'Chandra'. A Sanskrit-speaking camp was organized in your school. Relating
your experienes you write a letter to your friend Suresh but leave some words in
between. So complete the letter and rewrite it in your answer-sheet. You can take help
from the words given in the box below : ½×10=5

v 77] 'kkyhekj ckx

(i)__________

fnukø%__________

fiz; (i)__________

(iii)__________

v=k loZxra dq'kye~A eU;s Hkoku~ vfi dq'kyhA xrlIrkgs vLekda fo|ky;s laLd̀r&lEHkk"k.kf'kfoje~

vk;ksftre~ vklhr~A n'k fnukfu o;e~ laLd`rsu lEHkk"k.kL;  (iv)__________
 
d`roUr%A ,dL;k%

y?kqukfVdk;k% e×puefi (v)__________ vdqeZA vge~ rq fonw"kdL; (vi)__________ d`roku~A

losZ tuk% gflRok (vii)__________ okja okja djry/ofue~ vdqoZu~A vge~ rq bnkuha loZnk laLd`rsu

,o onkfeA ee f'k{kdk% vfi (viii)__________ Lusga dqoZfUrA Roe~ vfi iz;Rua dq#A uwua ;'kLoh

Hkfo";flA

firjkS (ix)__________
 
ee iz.kkek×tfya fuosn;rqA

Hkorke~ vfHkéân;%]
(x) __________

e×tw"kke×tw"kke×tw"kke×tw"kke×tw"kk

pUnz%] bUnziqjhr%] gflRok] vH;kla] lqjs'k] izfr] lLusga ueLrs] o;e~] vfHku;a]

ef;A
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3. laoknys[kue~

v/kksfyf[kra laokna e×tw"kkiznÙkiafDrlgk;r;k iwjf;Rok iqu% mÙkjiqfLrdk;ka fy[kr %

fuEufyf[kr laokn dks e×tw"kk esa iznÙk iafä;ksa dh lgk;rk ls iwjk djds iqu% mÙkj&iqfLrdk esa
fyf[k,  %

Complete the following dialogue with the help of the statements given in the box and rewrite
in your answer-sheet : 1×5=5

jk?ko% & Hkks je.khd! Hkoku~ dFke~ bZn`'k% egku~ tkr% \

je.khd% & (i) ___________________________________________________________

jk?ko% & Hkks%! dFka ew[kkZ.kka d`i;k Hkoku~ cqf)eku~ tkr% \

je.khd% & (ii) ___________________________________________________________

jk?ko% & ,oe~A ijs"kke~ vuqHkokr~ f'k{kka x`ghRok Hkoku~ cqf)eku~ tkr% fde~\

je.khd% & (iii) ___________________________________________________________

jk?ko% & d% rkor~ ew[kZ % \

je.khd% & (iv) ___________________________________________________________

jk?ko% & d% rkor~ ew[kZre% \

je.khd% & (v) ___________________________________________________________

                            e×tw"kk                            e×tw"kk                            e×tw"kk                            e×tw"kk                            e×tw"kk

lR;e~A ;% ijs"kke~ vuqHkokr~ f'k{krs l ,o cqf)eku~A

;% u vU;L; u pkfi vkReu% vuqHkokr~ f'k{krsA

;% ijL; vuqHkokr~ u f'k{krs] iqu% vkewykr~ iz;Rua djksfrA

ew[kkZ.kka d`i;k ,oA

vke~A vga ew[kSZ% d`rkfu dk;kZf.k vi';e~ rkfu vR;te~A
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4. fp=ko.kZue~

i×plq laLd`rokD;s"kq e×tw"kkinlgk;r;k v/kksfyf[kra fp=ko.kZua dq#r &

ik¡p laLÑr okD;ksa esa e×tw"kk ds 'kCnksa dh lgk;rk ls fuEufyf[kr fp=k dk o.kZu dhft, %

Describe the following picture in five Sanskrit sentences with the help of words given
in the box : 2×5=10

e×tw"kke×tw"kke×tw"kke×tw"kke×tw"kk

,d%] prlz%] 'kk[kk%] i×p [kxk%] gfjr%] i=kS% iw.kZ%] 'kqd%] lkfjdk] dksfdyk] pVdk]
dk"BPNsnd%] fo'kky%] LdU/k%] ckydk%] ckfydk%] fr"BfUr] mifo'kfUr] e.Mykdkjs]
ifjr%] lUns'k%] vLekda] o`{kk.kka] laj{k.ke~] drZO;e~] o`{k%A

vFkok vFkok vFkok vFkok vFkok (OR)

dsoya izKkp{kqH;Z% ¼dsoy us=kghuks a ds fy,½dsoya izKkp{kqH;Z% ¼dsoy us=kghuks a ds fy,½dsoya izKkp{kqH;Z% ¼dsoy us=kghuks a ds fy,½dsoya izKkp{kqH;Z% ¼dsoy us=kghuks a ds fy,½dsoya izKkp{kqH;Z% ¼dsoy us=kghuks a ds fy,½

For Blind Candidates only

^^fo|ky;s o`{kk.kka laj{k.kkFk± vLekfHk% fda fda dj.kh;e~** bfr i×plq laLd`rokD;s"kq fy[krA lkgk¸;kFk±
e×tw"kk;ka inkfu nÙkkfuA

^^fo|ky; esa o`{kksa ds laj{k.k ds fy, gesa D;k&D;k djuk pkfg,** bl fo"k; ij ik¡p laLÑr okD;ksa
esa fyf[k,A lgk;rk ds fy, e×tw"kk esa 'kCn fn, x, gSaA
"What should we do for the conservation of trees in the schools ?" Write five sentences
in Sanskrit on this topic with the help of words given in the box.

e×tw"kke×tw"kke×tw"kke×tw"kke×tw"kk

o`{kk%] ijksidkjdk% okfVdk;ka o`{kkjksi.ke~] izR;sda Nk=k%] ikniku~ fl×psr~] tysu]
gkfua u dq;kZr~] vku;sr~] o/kZ;sr~] laj{k.ke~] Kkue~] okrkZ%] mÙkeikniizn'kZuhA
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[k.M% x [k.M% x [k.M% x [k.M% x [k.M% x (Section  C)

vuqiz;qäO;kdj.ke~ ¼vuqiz;qä O;kdj.k½vuqiz;qäO;kdj.ke~ ¼vuqiz;qä O;kdj.k½vuqiz;qäO;kdj.ke~ ¼vuqiz;qä O;kdj.k½vuqiz;qäO;kdj.ke~ ¼vuqiz;qä O;kdj.k½vuqiz;qäO;kdj.ke~ ¼vuqiz;qä O;kdj.k½

Applied Grammar 30 vad%

5. v/kksfyf[krokD;s"kq js[kkførins"kq lfU/kPNsna lfU/ka ok fo/kk; mÙkjiqfLrdk;ka fy[kr %

fuEufyf[kr okD;ksa esa js[kkafdr inksa esa lfU/kPNsn vFkok lfU/k djds mÙkj&iqfLrdk esa fy[ksa %

Rewirte the underlined words of the following sentences in your answer-sheet after

joining or disjoining sandhis : 1×3=3

(i) ;Fkksfpra fØ;rke~A

(ii) dks·uFkZQy% \ eku%A

(iii) dfLeu~ + fpr~ uxjs pUnzks uke Hkwifr% volr~A

6. v/kksfyf[krokD;s"kq js[kkførins"kq lekla foxzga ok ÑRok iqu% mÙkjiqfLrdk;ka fy[kr %

fuEufyf[kr okD;ksa esa js[kkfør inksa esa lekl vFkok foxzg djds iqu% mÙkj&iqfLrdk esa fy[ksa %

Join or disjoin the compounds in the underlined words of the following sentences and

rewirte them in the answer-sheet : 1×4=4

(i) dFke=k urs p mUurs p fo"kes ekxsZ ØhMFk\

(ii) vLekda {ks=ks lqo.kZiwfjr% dy'k% fo|rsA

(iii) nq"Vk cqf)% ;L; l% ln~opukfu frjLd`R; izkpyr~A

(iv) losZ"kkeso egÙoa fo|rs ;Fkkle;e~A

7. dks"Bds iznÙkku~ izÑfrizR;;ku~ ;kstf;Rok vuqPNsna iqu% fy[kr %

dks"Bd esa fn, x, izÑfr&izR;;ksa dks tksM+dj vuqPNsn iqu% fy[ksa %

Rewrite the passage after joining suffixes to the roots or words given in brackets : 1×5=5

vLekfHk% fo|ky;a izfr le;su (i) _________ ¼xe~ + rO;r~½A ;s Nk=kk% ekxsZ (ii) ___________

¼ØhM~ + 'kr`½ le;a uk'k;fUr] (iii) ____________ ¼xq.k + bu~½ tuk% rs"kka (iv) ______________

¼ew[kZ + ry~½ n`"V~ok miglfUrA (v) ______________  ¼vkpk;Z + Vki~½ vfi rsH;% Øq/;frA
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8. rkfydknÙkinkfu la;ksT; i×pi×pi×pi×pi×pokD;kfu jp;r %

rkfydk esa fn, x, inksa dks tksM+dj ik¡pik¡pik¡pik¡pik¡p okD; cukb, %

Frame five sentences with the help of the words given in the table : 1×5=5

'kuS% 'kuS% iqjLdkja djksfeA

v/kquk ,o Hkze.kk; xPNkfeA

vge~ á% okjk.klha vkxrkA

'o% Hkkstua xfe";kfeA

;nk dnk fo|ky;kr~ izkIrorhA

9. v/kksfyf[krokrkZykis fjDrLFkkukfu iwjf;Rok mÙkjkf.k ,o mÙkjiqfLrdk;ka fy[kr %

fuEufyf[kr okrkZyki esa fjä LFkkuksa dh iwfrZ djds mÙkj&iqfLrdk esa fy[ksa %

Fill in the blanks in the following dialogue and write the answers in the answer-sheet :1×3=3

ekrk — iqf=k ! cfg% ds vkxPNfUr\

iq=kh — ekr% ! cfg% fHk{kqdS% (i) ________________ A

ekrk — iqf=k ! fda rs Hkkstua ;kpfUr\

iq=kh — ekr% ! (ii) ________________ 
 
Hkkstua u ;kP;rs\

ekrk — rfgZ fHk{kqdk% fda ok×NfUr\

iq=kh —  ekr% ! fHk{kqdS% (iii) ________________ 
 
¼oL=k½ ok×N~;rsA

10. v/kksfyf[krdk;ZØes vøkuka LFkkus laLd`rins"kq le;a mÙkjiqfLrdk;ke~ fy[kr %

fuEufyf[kr dk;ZØe esa vøksa ds LFkku ij laLÑr 'kCnksa esa le; mÙkj&iqfLrdk esa fy[ksa %

Indicate the time in Sanskrit words in the answer-sheet in place of figures in the

answer-sheet : 1×4=4

izkr% (i) ____________________oknus izkFkZuk] HkfDrlúhre~A

izkr% (ii) ___________________oknus eq[;kfrFks% vkxeue~] Lokxre~A

izkr% (iii) __________________ oknus izfr;ksfxrk;k% izkjEHk%A

e/;kÐs (iv) __________________ oknus fu.kZ;%A

9.30

10.15

11.00

12.45
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11. v³~dkuka LFkkus laLd`r la[;kokpd&fo'ks"k.kinkfu iz;qT; mÙkjkf.k mÙkjiqfLrdk;ka fy[kr %
vøksa ds LFkku ij laLÑr la[;kokpd fo'ks"k.k&'kCnksa dk iz;ksx djrs gq, mÙkj&iqfLrdk esa fy[ksa  %
Replacing numerals with Sanskrit adjectives in the following sentences, write your
answer in the answer-sheet : ½×4=2

vLekda xzkes (i) ______
 
Ñ"kdk% lfUrA rs"kq (ii) ______ Ñ"kdk% vfLeu~ o"ksZ ikfjrksf"kda yC/koUr%A

(iii) _______
 
HkfXkU;kS eaxyxhre~ vxk;rke~A (iv) ________

 
Hkfxuh tyikuO;oLFkkedjksr~A

12. v/kksfyf[krokD;kuka la'kks/kua d`Rok okD;kfu iqu% mÙkjiqfLrdk;ka fy[kr %
v/kksfyf[kr okD;ksa dk la'kks/ku djds okD; iqu% mÙkj&iqfLrdk esa fy[ksa  %
Correct and rewrite the following sentences in the answer-sheet : 1×4=4

vga izfrfnua ekrkfirjkS iz.kefr] rkS p eke~ vk'khokZna ;PNr% — Hkoku~ lq[kh HkoUrq]

losZ"kka nhutuL; lsoka djksrq bfrA

[k.M% [k [k.M% [k [k.M% [k [k.M% [k [k.M% [k (Section  D)
ifBr&vocks/kue~ ¼ifBr&vocks/ku½ifBr&vocks/kue~ ¼ifBr&vocks/ku½ifBr&vocks/kue~ ¼ifBr&vocks/ku½ifBr&vocks/kue~ ¼ifBr&vocks/ku½ifBr&vocks/kue~ ¼ifBr&vocks/ku½

Reading Comprehension 35 vad%

13. v/kksfyf[kra x|ka'ka] i|ka'ka] ukV~;ka'ka p ifBRok iznÙkiz'ukukeqÙkjkf.k mÙkjiqfLrdk;ka fy[kr %

fuEufyf[kr x|ka'k] i|ka'k vkSj ukV~;ka'k dks i<+dj iznÙk iz'uksa ds mÙkj mÙkj&iqfLrdk esa fyf[k, %
Read the following prose, poetry and drama passages and answer the given questions in the
answer-sheet :

¼d½ x|ka'k%

ij'kqjkedq.Ma rq yksfgru|k% fdf×pn~nwjs vfLrA iwoZe~ bna czãdq.Me~ vklhr~A bna yksfgru|k%
mn~xeLFkye~ bfr eU;rsA v=k vusdkfu n'kZuh;kfu LFkykfu vfi lfUrA vLekda i;ZVu&foHkkxsu
izdkf'krka ds"kkf×pr~ izfl)LFkykuka lwpha ifBRok Kk;rke~ bekfu i;ZVuLFkykfuA ,rs"kka n'kZuk;
lEiw.kkZ O;oLFkk orZrsA dk;ZØeLrq lqfuf'pr%A

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

I. ,dinsu mÙkjr %

,d 'kCn esa mÙkj nhft, %

Answer in one word : ½×4=2

(i) ij'kqjkedq.Ma dL;k% mn~xeLFkya eU;rs \

(ii) izfl)&i;ZVuLFkykuka lwph dsu izdkf'krk \

(iii) ij'kqjkedq.Ma iwo± fda uke dq.Me~ vklhr~ \

(iv) dLrkokr~ lqfuf'pr% orZrs \

85

2

3

1
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II. iw.kZokD;su mÙkjr %

iw.kZ okD; esa mÙkj nhft, %

Answer in a complete sentence : 1×1=1

ij'kqjkedq.Ma dq=k vfLr \

III. ;FkkfunsZ'ka mÙkjr %

;FkkfunsZ'k mÙkj nhft, %

Do as directed : ½×4=2

(i) ^,rs"kke~* bfr loZukeina dsH;% iz;qDre~ \

(ii) ^vusdkfu* bfr ina dL; inL; fo'ks"k.ke~ \

(iii) ^viw.kkZ* bfr inL; fda foykseine~ v=k iz;qDre~ \

(iv) ^vfLr* bfr fØ;kinL; fda drZ̀ine~ \

¼[k½ i|ka'k%

R;Dr~ok /keZiznka okpa] i#"kka ;ks·H;qnhj;sr~A
ifjR;T; Qya iDoa] HkqaDrs·iDoa foew</kh%AA

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

I. ,dinsu mÙkjr %

,d 'kCn esa mÙkj nhft, %

Answer in one word : 1×2=2

(i) ew[kZ% euq";% dhn`'kha ok.kha R;tfr \
(ii) ew[kZ% euq";% dhn`'ka Qya R;tfr \

II. iw.kZokD;su mÙkjr %
iw.kZ okD; esa mÙkj nhft, %
Answer in a complete sentence : 1×1=1

fo}ku~ euq";% dhn`'kha ok.kha onsr~ \

III. ;FkkfunsZ'ka mÙkjr %

;FkkfunsZ'k mÙkj nhft, %

Do as directed : ½×4=2

(i) iDoe~ bfr inL; fda foykseine~ \

(ii) HkqaDrs bfr fØ;kinL; fda drZ̀ine~ \

(iii) /keZiznke~ bfr dL; inL; fo'ks"k.ke~ \

(iv) ^dBksjke~* bR;L; fda lekukFkZdine~ v=k iz;qDre~ \
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¼x½ ukV~;ka'k%

v'oRFkkek — js nq"V Hkhe! Roe~ v| o/;ks·fl e;kA ¼foyksD;½ v;s dFka Jhd`".kktqZukS

;qf/kf"Bj'pA ¼Loxre~½ bnkuha fda djokf.k\ vk% n`"Ve~] vfLeu~ fo"kes le;s

czãkL=ke~ ,o es 'kj.ke~A eksp;kfe vL=ke~A ¼/;kua ukV;fr] czohfr p½ bne~

vik.Mok;A

JhÑ".k% — ikFkZ! i'; i';A ,rr~ foeqP;rs czãkL=ka nzks.kiq=ks.kA =kSyksD;a ngu~ bo

izp.MToky% vfXu% ifjr% izljfrA vtqZu! Roefi eq×p czãkL=ke~ ,rr~

fuokjf;rqe~A

vtqZu% — ue% HkxorsA LofLr vkpk;Ziq=kk;A LofLr es Hkzkr`H;%A mRl`T;rs e;k

czãkL=ke~A vL=ke~ vL=ks.k 'kkE;rke~A

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

I. ,dinsu mÙkjr %

,d 'kCn esa mÙkj nhft, %

Answer in one word : ½×4=2

(i) nzks.kiq=ks.k fda foeqP;rs \

(ii) czãkL=ka fde~ ngfr bo \

(iii) vtqZu% loZizFkee~ da ueLdjksfr \

(iv) vtqZu% czãkL=ka fuokjf;rqa fda foeq×pfr \

II. iw.kZokD;su mÙkjr %

iw.kZ okD; esa mÙkj nhft, %

Answer in a complete sentence : 1×1=1

czãkL=kL; iz;ksxkr~ fda ifjr% izljfr \

III. ;FkkfunsZ'ka mÙkjr %

;FkkfunsZ'k mÙkj nhft, %

Do as directed : ½×4=2

(i) ^n`"V~ok* bfr LFkkus fda ine=k iz;qDre~ \

(ii) ^fo"kes* bfr ina dL; inL; fo'ks"k.ke~ \

(iii) ^eq×p* bfr fØ;kinL; fda drZ̀ine~ \

(iv) okD;a iwj;r — LofLr es __________ A
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14. v/kksfyf[kr&i|};L; HkkokFkZe~ mi;qDrinS% iwjf;Rok iqu% fy[kr %

fuEufyf[kr nks i|ksa ds fy, HkkokFkZ mi;qä 'kCnksa ls iwjk djds iqu% fyf[k, %

Rewrite the following explanations of the two stanzas after completing them with
appropriate words : 3+3=6

¼d½ rLekÙofefUnz;k.;knkS fu;E; Hkjr"kZHkA
ikIekua iztfg g~;sua KkufoKkuuk'kue~AA

HkkokFkZ%

vr% gs Hkjroa'ks Js"B vtqZu! (i) __________ loZizFkee~ (ii) __________ o'ks d`Rok

,ua ikfiua ekj; ;% euq";L; leLra (iii) __________ foKku×p uk'k;frA

¼[k½ dks·uFkZQy% \ eku%] dk lq[knk \ lk/kqtueS=khA
loZO;lufouk'ks dks n{k% \ loZFkk R;kxhAA

HkkokFkZ%

;L; Qye~ vuFkZ% ,o l% (i) _______________A dk loZnk lq[ka nnkfr\ lTtukuka

(ii) __________A d% lokZ% foin% uk'kf;rqa prqj%\ ;% loZizdkjs.k (iii) __________

HkofrA

15. v/kksfyf[kr&i|};L; vUo;s fjDrLFkkukfu iwjf;Rok iqu% fy[kr %

fuEufyf[kr nks i|ksa ds vUo; esa fjä LFkkuksa dks Hkjdj iqu% fyf[k, %

Complete and rewrite the prose-order-renderings of the following two verses : 1½+1½=3

¼d½ dygkUrkfu gE;kZf.k] dqokD;kUra p lkSâne~A
dqjktkUrkfu jk"Vªkf.k] dqdekZUra ;'kks u`.kke~AA

vUo;% µ

gE;kZf.k dygkUrkfu] (i) _________ p dqokD;kUre~]

jk"Vªkf.k
 
(ii) _________ ] u`.kke~  (iii) _________ dqdekZUre~ ¼Hkofr½A

¼[k½ viwoZ% dks·fi dks'kks·;a fo|rs ro HkkjfrA

O;;rks o`f)ek;kfr] {k;ek;kfr l×p;kr~AA

vUo;% µ

¼gs½ Hkkjfr! ro (i) _________ dks'k% d% vfi viwoZ% fo|rsA

¼v;e~½  (ii) _________ o`f)e~ vk;kfr (iii) _________ p {k;e~ vk;kfrA
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16. js[kkførinkfu vk/k`R; iz'ufuekZ.ka dq#r %

js[kkfør inksa ds vk/kkj ij iz'u&fuekZ.k dhft, %

Frame questions on the basis of the underlined words : 1×4=4

(i) vu`ra onfl psr~ dkd% n'ksr~A

(ii) losZ"kka egÙoa fo|rs ;Fkkle;e~A

(iii) loZ% dkeku~ vokIuksrqA

(iv) }kn'keklk% ,o v{kRosu x.;UrsA

17. ?kVukØekuqlkje~ v/kksfyf[krokD;kfu iqu% fy[kr %

?kVukØe ds vuqlkj fuEufyf[kr okD;ksa dks iqu% fyf[k, %

Rewrite the following sentences in the sequential order : ½×8=4

(i) ,dfLeu~ uxjs izPNUuHkkX;% uked% dqekj% vklhr~A

(ii) ekxZ% cgqfHk% xrSZ% ifjiw.kZ% vklhr~A

(iii) ,d% mí.M% ckyd% onfr & HkoUrkS fdeFk± lqiFka ifjR;T; dqiFksu xUrqa izo`ÙkkS \

(iv) izPNUuHkkX;% ckY;dkys fo|ka u izkIuksr~A

(v) rkS /kugj.kkFk± xzkekUrja izfLFkrkSA

(vi) rkS fefyRok pkS;Zdk;± dq#r% LeA

(vii) izPNUuHkkX;% nq"Vcq)s% laxR;k pkSj% vHkor~A

(viii) rkS ekxsZ ØhMr% ckydku~ n`"V~ok vonrke~ & Hkks% fdeFk± fo"kes ekxsZ ØhMFk\

18. izl³~xkuqlkja 'kq)e~ vFk± fpRok fy[kr %

izlax ds vuqlkj 'kq) vFkZ dks pqudj fyf[k, %

Select and write the meaning of words which are appropriate to the context : 1×3=3

(i) l jktk uxjL; leUrr% nku'kkyk% vdkj;r~A

(1) vfUres izkUrs

(2) lE;d~ izdkjr%

(3) ifjr%
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(ii) r=k vfFkZuke~ lewg% vHkh"Vkfu oLrwfu izkI; lUrq"V% vHkor~A

(1) /kfuuke~

(2) ;kpdkuke~

(3) O;kikfj.kke~

(iii) jkK% Los"kq xk=ks"kq vfi fujklfDar foKk; ldya txr~ O;kdqye~ vHkor~A

(1) vaxs"kq

(2) pkj.ks"kq

(3) Lrqfrxk;ds"kq


